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Who is this R1n  — 72w» masnm SpaY 1w 73500 SYaT Rin ORT IR
that requires the writing be 2w and the signing be raw®

OVERVIEW

727 maintains that the reason for saying 1"95211"92 is to assure that the 03 was
executed mwY. It stands to reason that there is a requirement that both the
72°n2 and 7 nn must be rendered WY (otherwise why require him to say
both 2n>31 °192 and ann1 °192). The X3 asks, ‘who is this Xin that requires
both the n2°n> and 72N to be 7W?’. Our Moown will challenge this
assumption. It is possible that only the 712°n> need be 1nw> (the opinion of
1y%x *27'), and nevertheless it will still be necessary to say anmi *19211"02.

nooIN asks:
= 9TYIN 2295 PHINN P NAYT 759 NN Na9t 21)’170)31 INNIY 9NN ON)

And if you will say; according to the conclusion of the X3 that 1739
agrees with X219, that we need to say 1"92 to assure ©X7 0P also, besides the

wwn of “anwh PR°pa PR let us establish our awns according to ¥R '3, who

requires that only the 72°n> need be nwY and not the 7°nm -
= 9999PD 19981 DY1Y PRY DIVN ONNI 2393 NNV DIYN ANII %93 MM

And the reason for saying ans1 5192 will be on account of 72w, for we are
following the ruling of &"2 who requires 7»w? 72°n3, and it is also required

to say anmi s152 since there are no 12%p% 97%» 2I7Y. According to the X1pon
that 7127 maintains both reasons; there is no need to find a Xin who is of the opinion that
both 7m°nm 72°05 have to be wh. We can follow the opinion of &"3 who requires 72°n>
nnwS. This will explain the reason for saying 2021 *192 and since 727 also agrees that X
M»PY 11X 07y that will explain why anmi °192 must also be said.

mMooIN anticipates a possible answer and refutes it:
= N AN 229 19PY 9NT YN 29 ) XIND TN NDIT 99D pHv N

And it is implausible that this entire discussion in which we are searching
for a X1n who requires 7w> ma°nm 72°n5 and also® swx 31 who states later

"'See 2,3 xma.

23,797

3 According to the X1pon, the opinion of 7127 is that 1921 1"92 has to be said for both reasons; Tnw? PRP2 PR
and %P5 181 07y PR. According to 821 however there is only one reason for saying 1"53; namely 279 X
MPPH IR,

* See footnote # 6.
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in the X713 that our mwn follows the opinion of 71737 ' who maintains that both
nn°nm 72°n2 have to be done nnwY; it is implausible that in all this —

= RAPOVNI INYT RPUODT INID Y9N
We are discussing only according to what we originally thought, namely
that 727 does not agree with X217 at all, therefore we must find a Xin who requires both
mnwS anonm 72203, In truth however, we can say that according to 7127 the Xin of the mawn
is 71Y9R ", as previously mentioned. Mmooin finds this too far fetched’ to say that the entire
®°210 is only according to the ®nx mi.® We must say therefore that even according to the
X1pon, we cannot use MdOIN solution. The question is why not?

N1B0IN answers:
- NNPYY 11PN SYa NIPOND 29 N N1 MY Y

And one can say; that even according to the X1po% of the X923 where 7127
agrees with the reason of ¥»p% P1¥n 7Y PR, nevertheless we need to say

that 727 requires that the 772901 be 72wY. Therefore we are seeking the Xin who
requires both 7w 7n°nM 712°n3 even according to the X1pon that X297 7°% NX 720.

moon will now explain why we must maintain that 727 requires 7aWw? m2o0m.
= 9311 NI NPT )15

Since according to 7127 (even) two 0°7¥ that state 1p7° (besides saying 192

ano3) will not validate’ the vs. The only explanation why 117> is not sufficient is
because we require that the mn°ni be 7wh. The 07y cannot testify that the nnnn was
WY, unless they were present by the 720, and saw the vi7 *7v signing 7w, If 729
would not maintain that the 77°nn needs to be Inw?, then if two D7V state VT, ‘we
recognize the m»°nr’, then it would certainly be w>.

moon will now explain why 1727 maintains °37% X2 197> even according to the Ripon:
= N295 99N NI RNYY NN N9 SUPN NIPUNN 29D 2NN INY

For if we will maintain that according to the Ripo»n (when 7127 agrees with
X27), MYT is acceptable® the original question will remain; why does not

> When the X723 discusses an issue at length, we assume that it is according to the X1p0n, unless specifically
stated otherwise.

%1t is especially difficult to say that *wX 27, who was from the last 2°X7mx and was 770 the X723, did not
know of the X1pon that X277 7°% n°R 1727 and finds it necessary to actually establish our 71wn only according
to AT M.

7 See X271 71"7 '0n that 727 derives the 17 that >3 X% 1297 from the 2" w1 mwn. See “Thinking it over’ # 1.
¥ In the X" when 7121 maintains that we say 1'92 only because of w9, then obviously 17 is not valid,
because it does not tell us whether the 07y signed mnw%. According to the Xipon, however, where 1727
agrees with the reason of 121 07y PR, perhaps he will also agree that 11y is acceptable, because we do not
need 7MWY NN, we say anm *193, only to be 2Py the .
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7129 totally agree9 with X239, that the 211 of saying 1"92 is only because of ovp and
not because of 71»w%. Therefore we must conclude (since 7127 argues with X27), that YT
°171 XY, The reason why °17n R? 1y, is that since we require 71w 72°nn, then Y7 will
be hearsay.

mMooIN anticipates a possible refutation and rejects it.
- 105915 DIWM 19957 IS 3N KUY XD 190 XYY

And we cannot say that 721 does not require 7w 72°nm,'" and the reason
why 1v7" is not acceptable'? because if 1137 would be acceptable then °nX

mMAuw orpa IBY9MIRY. The proposed refutation is as follows; there is no requirement for
amwY monn. Nonetheless 3 82 1w7; - for if *3m nyT people will say this single T3\m5w
is equivalent to the two 2>7v that say 1137. Therefore it follows that wherever two 0°7y are
believed (i.e. M vWw 21°P), a single 7v should also be believed.'

mooIn rejects this refutation; we cannot say that °1n X9 1v7, simply because of °nX
DIPRY —
$29IININD SNN N NNYD DIVN ANI) 393 9917 7298V 1195 NPT

For since the > is required to say ans1 »122 on account’ of 7»w» this

will prevent any confusion. Therefore since there is no concern of confusion, the
only explanation why °In X7 1v7° is because 7127 requires maw? m2°N0M.

SUMMARY

We must say that 727 is of the opinion that the 2°ni (also) must be 7aw?,
even according to the X1pon of the X3 that X277 7% n°R 727, The reason
why 7127 does not totally agree with X27, but rather maintains that 2131 >392

? 727 did not agree with X271 because according to X217 it is not necessary to say 2021 °192. And 7127 does not
accept s'21 answer that 2n31 *191 is said because *971°X? °nR, for 727 is of the opinion that *17m°X? "R K7
since by 01°p we can only say "192. Even if two 0>7v come and say 11v7 it will not be accepted. If according
to the X1p0n, however, 727 will also agree that 117 is acceptable, then it will be *217m°R? °nX, so 7127 has no
reason not to accept s'821 opinion. [The distinction of 727 %v21 nwx alone will not be sufficient to prevent
the *D19MRY °NX; see T2 17"7 Moo ("W 2"mn).]

' It would be appropriate (according to this refutation) that the oo disqualify 197 by 221w (who should
be believed) in favor of accepting n"192 by one m2w, because one 9w is more common than two who
recognize the Ny ni from >"7771 (see 7">w 0"77n). See ‘“Thinking it over’ # 2.

' Therefore mooIn original question should remain that we follow X"1 concerning an21 *192 on account of
Tnw?; and anmi *192 is said only for avp.

"2 If there is no requirement for 7w% 7n°nn, there seems to be no reason why >3 X% YT,

" This will also explain why 727 disagrees with X27. Since *37% 82 My7 there is no need for 2n23 *193, since
*DIPITRY "NXR K7 because *1n X2 WY,

'* See footnote # 9 in X271 7"7 MdON.

"% See “Thinking it over’ # 3.
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must be said on account of 7nw> and not on account of »HMRY DR, is
because 7727 maintains that "77°R? °nX X7 since °17 X2 1yT7. The (only)
reason why °1n X2 YT is because they have to testify that it was written
nnwY, and this can be accomplished only be saying °192.

We cannot say that w5 7°n1 is not required, and the reason why &9 11v7
°177 is because if °37m YT, then *m%°K? °nX. This is not so, for according to
729, the MW must say 2021 °192 for 7»w?. This saying of 2n31 192 will
prevent *97°R. This proves that 7127 requires 7nw> 7n°ni. Therefore we
cannot say that he follows the opinion of X" who requires only 7nw? 72°n3.

THINKING IT OVER

1. Previously'® mooin explained that X271 derives that 1y7 is not effective
from the 71wn in 2"5 w™. Here moon states that 727 maintains *171 X2 Y7
for otherwise why does 727 argue with X27. Can we reconcile these two
moon?"”

2. What is more frequent;'® a. va Xan7 m°>w; b. M A o0 2w or c.
03 IRYNA TR and 0% R AnRY awRa?'

3. Why does mpoin add the phrase *”
an>1 needs to be said?

nnwS own' when mentioning that °1921

16 %97 17"72. See footnote # 7.
7 See n"m.

18 See footnote # 10.

19 See 7" w o" .

20 See footnote # 15.
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